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1)40+6= -
2) 45 + 30 = T
3)51+25=
4) 11 +60= ..
5) 54 — 30 =

6)35-11=_J
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12 cm * 98 cwm
8 KI * 5 Kr
81 AM * 81 Kr
. 95cmM*95T
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imMeTp =
10 AeunMMeTpPoB =
100 caHTUMeTpPOB







OTKpbIBaEM y4eOHMK Ha
cTpaHuue 36
ynpaxHeHue Ne2

] )T sy 16, G0 MR HEEE kg,
(YK 10 000 Kk O o OB .
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500 cm : 50 mm
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80cM




I 200+ 300 + 100 =
800 - 600 + 200 =

500 + 100 - 400 =
-

900 - 500 - 300 =
700 - 100+ 200 =

600 + 300 - 900 =




x + 400 = 500
600 + x = 900




* YTo MbI cerogHs Ha
YpOKe NoBTOPUNN?

M « Kakue BennuuHbl
. MOBTOPWNMU, Kakue <>
nyumnm?

_ * CKONbKO CM B M,
\ CKONMbLKO OAM B M?

’ TO Mbl genanwu

3

cerogHd Ha ypoke?







